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Paper - I

AR 1 B3 wToI (60) Lchey Wb 808 IFE BENYSRPRRE, B3 T3ne 2 eosnwd.
BRNPOT cInFmesde 50 (2=2) BIRIS), LI PF 030 GUBORLIETINT,
B RFodd S0 803 ) YIRS WFORT TFTY,, e B I LuBoRE SRTY w=R FINY
SR BNTS BRBRRIE.

Note : This paper contains Sixty (60) multiple choice questions, each question carrying
two (2) marks.
Candidate is expected to answer any Fifty (50) questions.

In case more than 50 questions are attempted, only the first 50 qucstions will be

evaluated.
1. 2,00 mwf 3807 S0R0d0 SIS esasdeesort 1. A software company states 1 GB RAM
233 JosoBmn 8 1 GB RAM =335 minimum and 2 GB RAM recommended
e L -
2 GB RAM 35 5305 Snaed, & for its new operating system software. The
L3 ~ pr

likely outcome of attempting to install this
uTSeeson’ R5o 52,0801 GB RAM 503

operating system on a computer with 1 GB
REPBO0BTO, B, &F WL Bosodazn
RAM would be that
VoKL TOFDY)
(A) Files will fail to save
(A) FFRd LrecsvRFOY,
(B) Peripheral device will fail to work
(B) 280 mopaned 3ur SRy,
(C) The operating system will fail to
(C) eszSersorn ame® A AL SOy, ]
T :
(D) nieadiotood) 362 HORRERE mabz%rdq (D) The computer will not run at its

0% SRBROY, optimum performance
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2. geyo8 MPIod Sogrith SN
eVTOI0TINBTYEI
(A) RoREE WNER), BRSO WRNRITd
(B) 53530303 3230300 e0BROROTRIITO
(C) Te08 Rowms dgﬁ%ﬂ#e‘; 033908,
BT

(D) B0ed3 e sodynde 1O

3. FWAIPNY, AR BoRB 238 20080
eaaédssi NN ?
(A) %ot Fodes
(B) 2.0 Dogod
(C) 20z asdeer o503

(D) 200 20305 O3 o8

4, 2,00 T @,385 c{)}do&)ﬁ wWE Sou )

BINSIHNGE IR w.9Re0RTBT ?
(A) o, Fonsh
(B) 00 O udemom,d DR FO D

(C) %00 ONEE) WTHSOCWATS HER TIY0BT
FOTD

(D) 0BT OTVTE) WIISOOAL DO,

P ez %@‘r{vb
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2. Data encryption technique are

particularly useful for

(A) reducing storage space requirements
(B) improving data integrity

(C) protecting data in data

communication systems

(D) all of the above

3. Which of the following is an essential

component of the communication cycle ?
(A) A message

(B) An interpreter

(C) An e-mail account

(D) An internet connection

4. Which of the following would be included

in a daily backup of a hard disk ?

(A) All files

(B) All files changed in the past day
(C) All data files changed in the past day

(D) All program files changed in the past
day



5. ) F8 200 PO RO dddnf )T T, e;a.da'igt
BPROPRD LOBRITS. VBN, HILO
IRV, IR 85808 Reganss
230300300 ? |
(A) tombenmer S0 m 5 Andbsshnes

(B) %oz ober* o FOF° M, T BRES
BWInIo%

(C) word ANDR JerRTE ), ;& DRI
Roped

(D) o mow's Ba7RYRoTpeer PO B &
BRES e

6. IINIPNTY, NPT SOWo LReRFT L0
dFoRroRT @owcﬁﬁi RRURZE ?
(A) &TBet3on® ARSTS WRBHFNAD
FFTOBRETHN

(B) mow'r ez, S0eds o ned
- 3D RCTN

(C) DRF TS BoBRed 0B e
BB 0’ Fr3oronsd BesdT
SRR dodTonTn
(D) B[RS D008 a’ns_g Re3o03 FedT30B e,
B aH0° AprdnEd SEBORRRY RN

LodNTN
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S. A user wants to detect and clean a virus-
infected file as it is opened. Which of the
following procedure would best achieve
this ?

(A) schedule a local virus scan

(B) utilise a real-time virus scan

(C) perform a scheduled network virus

scan

(D) perform a complete virus scan of all

hard disks

6. Which of the following would indicate

that the mother board battery has failed ?

(A) Operating system passwords are lost

(B) Files on the hard disk are lost or
corrupted

(C) Hardware settings including virtual
memory revert to default valués '

(D) Hardware settings, including current

date and time revert to default values

R.3.85¢. /P.T.O.



3INS Boewsay) 2,00 BoFaosn 2004-2010 0, Answer questions 7-12 using the following

LUOAT ARG Fnwon (M1 - M5) Seef e table which gives the sales of different
FPREONY BROILBR), (ATNYY ) T, models (M1 — M5) of mobile phones (in
QTR evRo3peNABROE, 7-12 T=BAS @%ﬁ#a% thousands) during 2004-2010 produced by
SUZORD : a certain company.
- Models
Models Year
Year M1 | M2 | M3 | M4 | M5] Total

M1| M2 | M3 | M4 | M5 | Total
2004 | 150 | 288 | 228|204 ] 220|.1090
2005 | 180 252 | 204 | 168252| 1056
2006 ] 96 | 228 } 150|210)270] 1050
2007 | 105] 180|300} 180| 150| 1020
2008 | 90 | 150 {270 150{ 180| 930
2009 | 105 120 | 3301 90 | 240| 990
2010 | 115} 170 | 320|200} 286 | 1206

2004 | 150 | 288 | 228 | 204|220 1090
2005 | 180 252 [ 204 | 168} 252 | 1056
2006 | 96 | 228 | 150| 210270} 1050
2007 | 105 180 | 300 | 180} 150| 1020
2008 | 90 | 1501270 150] 180| 930
2009 | 105 120 | 330 90 | 240] 990
2010 115} 170 | 3202001286 1206

7. What is the percentage increase in the

7. 2004 3 Bredasd, 201089 M5 &S»uoohd sales of model M5 in 2010 compare to
BRTOBOT BeBETTO BLF DR, ? 2004 ?
(A) 20 (A) 20
(B) 30 (B) 30
(C) 40 (C) 40
(D) 50 (D) 50

8. 2004-201039, c3ne IR@OT 2.4 Z000 8. For which model the total sale is maximum

RTINS ? during 2004-2010 ?
'(A) Mi ’ (A) Ml
(B) M2 (B) M2
(C) M3 | (C) M3
(D) M5 (D) M5

Y-0011 @



9. 2004 o5 2009535K NS RHBOH
28D AIZN TR 2

(A) M2
(B) M3
(C) M4
(D) M5

10. 0w BRFBE,, wi Foesorty Awoowe
BReDATIN M1 &SnEoodd Fedmomody
DEoD ROFON 2

~ (A) 2005
(B) 2006
(C) 2009
(D) 2010

11. cin® SRFTY,, W) FpeIony Inoous,
BReQAPAMI BRTo 3e8ra0) 8 030

3TN
(A) 2004
(B) 2005
(C) 2006
(D) 2008

12. 2004-20100 S0z 030 SRTOGSD
TODSBOD moam;g TR 9

(A) M1
(B) M2
(C) M3
(D) M4 358 M5

Y-0011

9. In case of which model there was a

continuous decrease in sales from 2004
to 2009 ?

(A) M2
(B) M3
(C) M4
(D) M5

10. In which year was the percentage of

model M1 sold to the total number of
phones sold maximum ?

(A) 2005
(B) 2006
(©) 2009
(D) 2010

11. In which year was the percentage of

model M1 sold to the total number of
phones sold minimum ?

(A) 2004
(B) 2005
(C) 2006
(D) 2008

12. Which model holds the record sale in any

year during 2004-2010 ?
(A) M1

(B) M2

(C) M3

(D) M4 and M5

@.8.86¢ /P.T.0.
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(For Blind Candidates Only)
Read the following passage carefully and answer the questions 7 to 12 :

The origin of the concept of gender and development arose out of the evolution of development
theory and practice since the 1960s. This is when there was a shift from emphasis on economic
growth and other physical aggregates to having as its main thrust the notion that human
development is the essential objective and main engine of economic development.

In the case of developing countries, it was postulated that through a massive transfer of capital
resources from the developed countries to them, growth and modernisation would ensure social
and economic benefits including employment and a fairer income distribution.

Pursuit of such policies, however, has not led to the promised development. Instead, there has
been retrogression on most fronts so far as Africa, and many other countries in Asia and Latin
America are concerned. The necessary human capital and infrastructure have not been present
in these countries.

Women constitute just over 50 per cent of the world’s population. They, however, face a number
of constraints which have prevented them from partaking of the benefits of development. Indeed,
a world profile of women in 1975 indicated that although they constituted 50 per cent of the
world’s population, and a third of the world’s workforce, they worked two-thirds of the world’s
working hours, earned one tenth of the world’s income and owned one hundredth of the world’s

property.

The international dimension of the evolution of the gender concept and the role of the United
Nations in establishing global norms and policies for the advancement of women have been
provided for, through its instruments.

United Nations in accordance with its charter has spearheaded the international movement for
the advancement of women and for placing women within the mainstream of the dévelopment
process. Believing that the sustained and sustainable development of the developing countries
and their full integration into the world economy on an equitable basis is indispensable to the
advancement of women and their integration into the development process, the UN has negotiated
instruments such as the New International Economic Order (NIEO), and drawn up international
development strategies aimed at affecting changes in the international economic structures and
institutions to make them fully supportive of growth in the developing countries.

Y-0011 ® 2.9.35¢ /P.T.O.
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13.

14.

15.

16.

17.

Y-0011

v oY, BENYD_, oeBd BT 2wotsoNes
03 2,000 BE RN @’%ez?mhd & —w’a’ss%
FoBIREBOND.

(A) roeasdoes
(B) =3

(C) =Pozosr
(D) dmEes

3INS TPeoF T F03T T, WL,
TOIRFOD e;soi%r{#égt BN, mgdag
TPFREYROE 808 ReBTT 'w’ddz&zt 3080,
), PO BT FRBLII3, GRS 5900
(A) R&FTR e;ezﬁa’oﬁL SUUBTON RIS
(B) &3 Roggmn roderasid

(C) ot sBrearor o3 BouR33

(D) e eddﬁg{ 23N ToradRHo3 BBIZT

Do JerTodod0e #owodda’g BTN
BAEN 12RO, SORD

DOWNT : HDINT

(A) 2e@3>: Ben=d

(B) ome0000%0 1 DoFodeen
(C) w0y : Beed

(D) 3 Jnpeyzoss

3YNS 0e303E) 48 FoIT 3y 2T @00
IBQ, Ry, T RS 7
4727235974752479478471

(A) 5 (B) 3

€ 4 (D) 2

OVER &= QYIW 0t 08a3, STAR e
&e7 WBOWBIT
(A) UWEV
(C) UVBS

(B) UWEW
(D) UWEX

@

13.

14.

15.

16.

17.

Among the four terms marked A-D, three
terms are similar and one is dissimilar,
find the one that is not similar

(A) Quality
(B) Qualify
(C) Beauty
(D) Educated

Below an incomplete statement is
followed by four possible alternative
choices, select the most appropriate that
completes the statement.

A police man wears uniform because

(A) It is provided by the Government
free of cost

(B) He can be recognised easily
(C) It scares away criminals
(D) It gives smart appearance

Choose the pair of words which shows the
same relationship as given at the top.

Embrass : Humiliate

(A) Annoy : Exasperate
(B) Embezzle : Peculate
(C) Enquire : Ask

(D) Difficult : Painful

How many 7's are there in the following
sequence. Which are preceded by 4 but
not immediately followed by 2 ?

4727235974752479478471

(A) 5 (B) 3

<€ 4 D) 2

If OVER is coded QYIW, then STAR is
coded

(A) UWEV
(C) UVBS

(B) UWEW
(D) UWEX



18. 13523 1T 0% F9R QerEenNtds S0m Bewdny

19.

3023 a) RAb) 2020 DT> VeI CINE. 200
Ted B3 DeYFTNYD :fa;mﬂzﬁad’, FINT o3z
RQearodonisd Zogegenn ATDIES 9

[ ZoRERe0 womd dehmviodnygm,
I o203 20 TORT

Qe oned ¢

a) NTF o) SRRIN0Y, TR,
b) woess Wy @id’%

(A) a) ZngWe RO

(B) b) @ngzle 50

(C) a) &R b) necEn xO

(D) a) 583 b) ne¥c@e RooDe)

2, ROBRGED, 3N 5w FOoIN moﬁq@@
LOTOTIBIN ézzbu Fo£8% QerZTI 02T e
20T ﬁoﬁmezﬁé&baﬁg{ SRS, /T m@dﬁ
M wpkstels]

(A) RBRT, FoBRGS
(B) $03m Rodpes

(C) ©3,008 Zodness
(D) RopopngSoBres

20. o xaabsg’% ﬁozpaasééoso Bea3odn

(A) Tgsah O3RNSR
(B) :mméjmﬁ 003R NI
(C) eia-;@ﬁawrs‘

(D) Bagwnh tWBe3nATLesd

21. 503ReNs BoZRBIONY ©NZ DT &§ 050D

Y-0011

(A) é)es;sa

(B) Sromord a8 $3€0 mRiend
(C) Qc30gROT)TO

(D) evdesds Bonm

18. Two statements 1 and II given below are

19.

20.

21.

followed by two conclusions a) and b).
Supposing the statements are true, which
of the following conclusions can logically
follow ?

I. A senate is a wise body.
II. George is a senator.
Conclusions :

a) George is a wise person.
b) George is literate.

(A) only a) follows

(B) only b) follows

(C) both a) and b) follows
(D) neither a) nor b) follows

If a researcher conducts a research on
finding out which administrative style
contributes more to institutional
effectiveness, this will be an example of

(A) basic research
(B) action research
(C) applied research

(D) fundamental research

A normal probability curve should be
(A) positively skewed

(B) negatively skewed

(C) leptokurtic

(D) zero skewed

The process not needed in experimental
research is

(A) observation
(B) manipulation and replication
(C) controlling

(D) reference collection

.8.82¢c /P.T.O.
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37. 236, tPREY, B RONDIR BTG RR, 37. The central problem discussed in the
: 3 ™ o

2053 passage is
A) Th kward ibal
(A) 20826 BEOREE Wotendsnd *) pe:plzac wardness of the triba

(B) 583 dooF s

(B) Deforestation
© wdi% w0 SO #&’_\;’S (C) Economic problem of the tribes
(D) 20wt was wemsgdod w3 (D) The destruction of the tribal way of

life
38. 3INIJNID oI s, ﬂ’oﬁ@éﬁe‘? %WOT
UBFIRY 7 38. Which of the following is not a
(A) R characteristic of tribal cultures ?
[
(B) mogmoats dene evaainen | (A) Cohesiveness
(C) sordRRnae (B) Use of tradition artefacts
=] A
(C) Material equality
(D) oo s Boeds w0

(D) Dependance on the State

39. HEI[R0DR WTRFLD noRs &
TRIPODN L0 2, 90 RoLOTY 39. The relationship of the tribals with the
(A) Todesor mgj WBD - TTOeod forest is

(B) Rozgproramon SRFGERE) (A) Complex and multi-layered

(C) 3w yozozs (B) Purely economic

(D) RN Foa0Fs (C) Only emotional

(D) Predominantly religious
40. SeD30 NTEBY) VTS 8 BeshR)mond
(A) t.0m> SBRRE0 ReBIEONDT 40. The writer’s objective is to high light
55 03NE (A) The threats to a healthy way of life
(B) e@de0ns RIm A (B) The problems of modernisation
(C) womgin, 2> 1@do0dedd weds (C) The differences between tribal and
YT non-tribal life styles
BONe SRoeo FIYRAND . _
(D) Only the uniqueness of tribal
(D) 3eho womEsw) IRy T, e3gnsd DVWRES societies

Y-0011 2.5.80¢. /P.T.O.
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46.

47.

48.

49.

50.

Y-0011

T2y 00% ezp%%oﬁo:&l éiisad eﬁésim%
NUTIEBTOT 03T RSO TONEIBO ?

(A) 64-66 T 35od B8

(B) 1990 O toomeds S0

(C) 1932 3 888 Sweendnd odpewd

(D) 7F. DpRTHRD® B0CRT

FONPITT a’d@éoﬁw FOF IDFHIORN 98
BN BZTI), B0,

(A) ZoREROME FO0IRFONT BRTMWOT

(B) Rodtnss Rwor §50

© @soﬁaor{d FTF T3

(D) 0303 QFwSoHn %w%oé

BT 9T @d@o&’ 308 WRT, 2,083 DROT
e 308) a’dsﬂzsojo BoedS 3y oS RoB

e:azpmjodor{e}é% SPROT)TI.

(A) c‘.’bmo’me@% (B) ®c3nemo

(C) A% (D) wvamR

&NA° 14 3oebenTmots, @0ods dons Bete
O 03 BITINSBE 2

(A) =T (B) 380

(C) 33 (D) o3

ISNS TIoDY , 1 ‘B R, ‘ToedE 1Y SRS
BEVE ROWOHTOBOE BOWOTRR), BROATI
QOB BERYR), MBI : FFB, TN, SO
R0B) Sesdd

(A) IR =) 2N
(B) 2338 o3y R0xeo
(C) 8 R Seds
(D) 3onc &) Roceo

46. Which commission considered national

47.

48.

49.

50.

development as the most important
concern of education ?

(A) The Kothari Commission 64-66
(B) The Ram Murti Report of 1990

(C) The Basic Scheme of Education 1932
(D) S. Radhakrishnan Commission

Identify the main principle on which the
parliamentary system operates

(A) Responsibility of executive to
legislature

(B) Supremacy of parliament
(C) Supremacy of judiciary

(D) Theory of separation of power

Three or more persons express their
thinking and opinions on the same theme

and problem at a
(A) seminar (B) workshop

(C) conference (D) symposium

If August 14 falls on Monday, what day
will be the first day of the next month ?

(A) Thursday (B) Friday
(C) Saturday (D) Sunday

Identify the two words, which have the
same relation an ‘actor’ and ‘drama’ from
the following list :

book, paper, press and author
(A) book and paper

(B) book and press

(C) book and author

(D) paper and press :

2.8.86¢. /P.T.0.
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